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Test 3, sujet A et B - Série Entière

1. Déterminer le rayon de convergence de

A :
∑
n≥0

(−2)n

n7 xn, B :
∑
n≥0

n!
(2n)!x

n

Correction :

Pour A,
∣∣∣an+1

an

∣∣∣→ 2, donc R = 1/2.

Pour B,
∣∣∣an+1

an

∣∣∣ =
∣∣∣ n+1

(2n+2)(2n+1)

∣∣∣→ 0 donc R =∞

2. Déterminer le rayon de convergence de

A :
∑
n≥0

(
2n
n

)
zn, B :

∑
n≥0

(
n+1
√

n + 1
)

zn

Correction :

Pour A,
∣∣∣an+1

an

∣∣∣ = (2n+2)(2n+1)
(n+1)2 → 4, donc R = 1/4.

Pour B, |an|1/n =
∣∣∣∣e 1

(n+1)n
ln(n+1)

∣∣∣∣→ 0, donc R =∞.


